
A
m

p
h

e
n

o
l

In
te

rc
o

n
n

e
c
tio

n
A

c
c
e
s
s
o

rie
s

•
F

o
r u

se
 o

n
 M

il-C
-3

8
9
9
9
 S

e
rie

s III

•
T

h
e
 5

0
0
3
 B

a
c
k
s
h
e
lls

 a
re

 s
u
ita

b
le

 fo
r te

rm
in

a
tio

n
 u

s
in

g
 B

a
n
d
it, Z

e
ta

lo
c
k
 a

n
d

H
e
a
ts

h
rin

k
 P

ro
d
u
c
ts

•
T

h
e
 5

0
0
3
 is

 d
e
s
ig

n
e
d
 to

 g
iv

e
 3

6
0

o
 S

c
re

e
n
in

g

A
m

p
h

e
n

o
l

A
m

p
h
e
n
o
l In

te
rc

o
n
n
e
c
tio

n
 A

c
c
e
s
s
o
rie

s
 - A

m
p
h
e
n
o
l D

is
trib

u
to

r:

5
0
0
3
 B

a
c
k
s
h

e
ll S

e
rie

s



Amphenol

MATERIAL AND FINISH CODES
ARE SPECIFIED ON ORDER

NOTE:

ALL DIMENSIONS SHOWN ARE

FINISHED DIMENSIONS AFTER

PLATING/METAL FINISHING

AMPHENOL LTD

Amphenol Ltd

Thanet Way,

Whitstable, Kent.

CT5 3JF

Tel:  01227 773200  Fax:  01227 276571

CHECKED                  DIMENSIONS IN

      MM

SCALE                   TOLERANCES

This drawing is the property of Amphenol Ltd

and shall not be copied or

disclosed to a third party without the

express permission of Amphenol Ltd

Amphenol Ltd 2000©

TITLE

Drawing Number

THIRD ANGLE

PROJECTION
5003 SERIES

BACKSHELL
STRAIGHT

∅
H

 
M

A
X

∅
G

 
M

A
X

1.431 MAX

1.179 MAX

∅
B

 
M

A
X

A
 T

H
R

E
A

D

PART NUMBER A-THREAD ∅ B MAX ∅ G MAX ∅ H MAX REC HELLERMAN REC HELLERMAN   SPRING

     BOOT 90o             BOOT STRAIGHT   REF

5003-09-00-00-10-AA-XX M12 x 1 18.14 6.48 14.04 1152-4-GW24 152-42-GW24 HE 050

5003-11-00-00-10-AA-XX M15 x 1 20.45 8.05 15.61 1154-4-GW24 154-42-GW24 HE 100

5003-13-00-00-10-AA-XX M18 x 1 24.64 11.25 18.81 1155-4-GW24 155-42-GW24 HE 100

5003-15-00-00-10-AA-XX M22 x 1 29.13 12.83 20.39 1155-4-GW24 155-42-GW24 HE 200

5003-17-00-00-10-AA-XX M25 x 1 32.13 16.00 23.57 1156-4-GW24 156-42-GW24 HE 200

5003-19-00-00-10-AA-XX M28 x 1 32.64 19.18 26.74 1156-4-GW24 156-42-GW24 HE 300

5003-21-00-00-10-AA-XX M31 x 1 39.78 22.38 29.92 1157-4-GW24 157-43-GW24 HE 300

5003-23-00-00-10-AA-XX M34 x 1 43.28 25.55 33.09 1157-4-GW24 157-43-GW24 HE 300

5003-25-00-00-10-AA-XX M37 x 1 44.25 25.55 33.09 1157-4-GW24 157-43-GW24 HE 300

5003-09-06-00-10-AA-XX M12 x 1 18.14 4.83 14.04 1152-4-GW24 152-42-GW24 HE 050

5003-11-08-00-10-AA-XX M15 x 1 20.45 6.48 14.04 1154-4-GW24 154-42-GW24 HE 050

5003-13-10-00-10-AA-XX M18 x 1 24.64 8.05 15.61 1155-4-GW24 155-42-GW24 HE 100

5003-15-12-00-10-AA-XX M22 x 1 29.13 11.25 18.81 1155-4-GW24 155-42-GW24 HE 100

5003-17-14-00-10-AA-XX M25 x 1 32.13 12.83 20.39 1156-4-GW24 156-42-GW24 HE 200

5003-19-16-00-10-AA-XX M28 x 1 32.64 16.00 23.57 1156-4-GW24 156-42-GW24 HE 200

5003-21-18-00-10-AA-XX M31 x 1 39.78 19.18 26.74 1157-4-GW24 157-43-GW24 HE 300

5003-23-20-00-10-AA-XX M34 x 1 43.28 22.38 29.92 1157-4-GW24 157-43-GW24 HE 300

5003-25-22-00-10-AA-XX M37 x 1 44.25 25.55 33.09 1157-4-GW24 157-43-GW24 HE 300



Amphenol

MATERIAL AND FINISH CODES
ARE SPECIFIED ON ORDER

NOTE:

ALL DIMENSIONS SHOWN ARE

FINISHED DIMENSIONS AFTER

PLATING/METAL FINISHING

AMPHENOL LTD

Amphenol Ltd

Thanet Way,

Whitstable, Kent.

CT5 3JF

Tel:  01227 773200  Fax:  01227 276571

CHECKED                  DIMENSIONS IN

     Inches

SCALE                   TOLERANCES

This drawing is the property of Amphenol Ltd

and shall not be copied or

disclosed to a third party without the

express permission of Amphenol Ltd

Amphenol Ltd 2000©

TITLE

Drawing Number

THIRD ANGLE

PROJECTION
 5003 SERIES

BACKSHELL
STRAIGHT

∅
H

 
M

A
X

∅
G

 
M

A
X

∅
B

 
M

A
X

1.431 MAX

1.179 MAX

A
 T

H
R

E
A

D

PART NUMBER A-THREAD ∅ B MAX ∅ G MAX ∅ H MAX REC HELLERMAN   REC HELLERMAN       SPRING

     BOOT 90o BOOT STRAIGHT   REF

5003-09-00-00-10-AA-XX M12 x 1 0.714 0.255 0.5528 1152-4-GW24 152-42-GW24 HE 050

5003-11-00-00-10-AA-XX M15 x 1 0.805 0.317 0.6146 1154-4-GW24 154-42-GW24 HE 100

5003-13-00-00-10-AA-XX M18 x 1 0.970 0.443 0.7406 1155-4-GW24 155-42-GW24 HE 100

5003-15-00-00-10-AA-XX M22 x 1 1.147 0.505 0.8028 1155-4-GW24 155-42-GW24 HE 200

5003-17-00-00-10-AA-XX M25 x 1 1.265 0.630 0.9280 1156-4-GW24 156-42-GW24 HE 200

5003-19-00-00-10-AA-XX M28 x 1 1.285 0.755 1.0528 1156-4-GW24 156-42-GW24 HE 300

5003-21-00-00-10-AA-XX M31 x 1 1.566 0.881 1.1780 1157-4-GW24 157-43-GW24 HE 300

5003-23-00-00-10-AA-XX M34 x 1 1.704 1.006 1.3028 1157-4-GW24 157-43-GW24 HE 300

5003-25-00-00-10-AA-XX M37 x 1 1.742 1.006 1.3028 1157-4-GW24 157-43-GW24 HE 300

5003-09-06-00-10-AA-XX M12 x 1 0.714 0.190 0.5528 1152-4-GW24 152-42-GW24 HE 050

5003-11-08-00-10-AA-XX M15 x 1 0.805 0.255 0.5528 1154-4-GW24 154-42-GW24 HE 050

5003-13-10-00-10-AA-XX M18 x 1 0.970 0.317 0.6146 1155-4-GW24 155-42-GW24 HE 100

5003-15-12-00-10-AA-XX M22 x 1 1.147 0.443 0.7406 1155-4-GW24 155-42-GW24 HE 100

5003-17-14-00-10-AA-XX M25 x 1 1.265 0.505 0.8028 1156-4-GW24 156-42-GW24 HE 200

5003-19-16-00-10-AA-XX M28 x 1 1.285 0.630 0.9280 1156-4-GW24 156-42-GW24 HE 200

5003-21-18-00-10-AA-XX M31 x 1 1.566 0.755 1.0528 1157-4-GW24 157-43-GW24 HE 300

5003-23-20-00-10-AA-XX M34 x 1 1.704 0.881 1.1780 1157-4-GW24 157-43-GW24 HE 300

5003-25-22-00-10-AA-XX M37 x 1 1.742 1.006 1.3028 1157-4-GW24 157-43-GW24 HE 300



Amphenol

MATERIAL AND FINISH CODES
ARE SPECIFIED ON ORDER

NOTE:

ALL DIMENSIONS SHOWN ARE

FINISHED DIMENSIONS AFTER

PLATING/METAL FINISHING

AMPHENOL LTD

Amphenol Ltd

Thanet Way,

Whitstable, Kent.

CT5 3JF

Tel:  01227 773200  Fax:  01227 276571

CHECKED                  DIMENSIONS IN

      MM

SCALE                   TOLERANCES

This drawing is the property of Amphenol Ltd

and shall not be copied or

disclosed to a third party without the

express permission of Amphenol Ltd

Amphenol Ltd 2000©

TITLE

Drawing Number

THIRD ANGLE

PROJECTION
5003 SERIES

BACKSHELL
RIGHT ANGLE

∅ H MAX

∅ G MAX

∅
B

 
M

A
X

J MAX

E MAX

17.98 MIN

A
 T

H
R

E
A

D

D
 
M

A
X

PART NUMBER                A-THREAD D MAX ∅ B MAX E MAX ∅ G MAX ∅ H MAX J MAX        REC HELLERMAN          SPRING

                                      BOOT STRAIGHT              REF

5003-09-00-90-10-AA-XX              M12 x 1 35.18 18.14 25.98 6.48 14.04 32.39              152-42-GW24 HE 050

5003-11-00-90-10-AA-XX              M15 x 1 38.35 20.45 29.16 8.05 15.61 35.56              154-42-GW24 HE 100

5003-13-00-90-10-AA-XX              M18 x 1 41.53 24.64 32.33 11.25 18.81 38.74              155-42-GW24 HE 100

5003-15-00-90-10-AA-XX              M22 x 1 46.30 29.13 37.11 12.83 20.39 43.51              155-42-GW24 HE 200

5003-17-00-90-10-AA-XX              M25 x 1 49.48 32.13 40.28 16.00 23.57 46.69              156-42-GW24 HE 200

5003-19-00-90-10-AA-XX              M28 x 1 49.48 32.64 40.28 19.18 26.74 46.69              156-42-GW24 HE 300

5003-21-00-90-10-AA-XX              M31 x 1 57.40 39.78 48.21 22.38 29.92 54.61              157-43-GW24 HE 300

5003-23-00-90-10-AA-XX              M34 x 1 60.58 43.28 51.38 25.55 33.09 57.79              157-43-GW24 HE 300

5003-25-00-90-10-AA-XX              M37 x 1 60.58 44.25 51.38 25.55 33.09 57.79              157-43-GW24 HE 300

5003-09-06-90-10-AA-XX              M12 x 1 35.18 18.14 25.98 4.83 14.04 32.39              152-42-GW24 HE 050

5003-11-08-90-10-AA-XX              M15 x 1 38.35 20.45 29.16 6.48 14.04 35.56              154-42-GW24 HE 050

5003-13-10-90-10-AA-XX              M18 x 1 41.53 24.64 32.33 8.05 15.61 38.74              155-42-GW24 HE 100

5003-15-12-90-10-AA-XX              M22 x 1 46.40 29.13 37.11 11.25 18.81 43.51              155-42-GW24 HE 100

5003-17-14-90-10-AA-XX              M25 x 1 49.48 32.13 40.28 12.83 20.39 46.69              156-42-GW24 HE 200

5003-19-16-90-10-AA-XX              M28 x 1 49.48 32.64 40.28 16.00 23.57 46.69              156-42-GW24 HE 200

5003-21-18-90-10-AA-XX              M31 x 1 57.40 39.78 48.21 19.18 26.74 54.61              157-43-GW24 HE 300

5003-23-20-90-10-AA-XX              M34 x 1 58.80 43.28 51.38 22.38 29.92 57.79              157-43-GW24 HE 300

5003-25-22-90-10-AA-XX              M37 x 1 58.80 44.25 51.38 25.55 33.09 57.79              157-43-GW24 HE 300



Amphenol

MATERIAL AND FINISH CODES
ARE SPECIFIED ON ORDER

NOTE:

ALL DIMENSIONS SHOWN ARE

FINISHED DIMENSIONS AFTER

PLATING/METAL FINISHING

AMPHENOL LTD

Amphenol Ltd

Thanet Way,

Whitstable, Kent.

CT5 3JF

Tel:  01227 773200  Fax:  01227 276571

CHECKED                  DIMENSIONS IN

     INCHES

SCALE                   TOLERANCES

This drawing is the property of Amphenol Ltd

and shall not be copied or

disclosed to a third party without the

express permission of Amphenol Ltd

Amphenol Ltd 2000©

TITLE

Drawing Number

THIRD ANGLE

PROJECTION
5003 SERIES

BACKSHELL
RIGHT ANGLE

∅ H MAX

∅ G MAX

∅
B

 
M

A
X

J MAX

E MAX

0.708 MIN

A
 T

H
R

E
A

D

D
 
M

A
X

PART NUMBER               A-THREAD D MAX ∅ B MAX E MAX ∅ G MAX ∅ H MAX J MAX  REC HELLERMAN    SPRING

                                                                                                                                                                                    BOOT STRAIGHT      REF

5003-09-00-90-10-AA-XX            M12 x 1 1.385 0.714 1.023 0.255 0.5528 1.275      152-42-GW24         HE 050

5003-11-00-90-10-AA-XX             M15 x 1 1.510 0.805 1.148 0.317 0.6146 1.400      154-42-GW24         HE 100

5003-13-00-90-10-AA-XX             M18 x 1 1.635 0.970 1.273 0.443 0.7406 1.525      155-42-GW24         HE 100

5003-15-00-90-10-AA-XX             M22 x 1 1.823 1.147 1.461 0.505 0.8028 1.713      155-42-GW24         HE 200

5003-17-00-90-10-AA-XX             M25 x 1 1.948 1.265 1.586 0.630 0.9280 1.838      156-42-GW24         HE 200

5003-19-00-90-10-AA-XX             M28 x 1 1.948 1.285 1.586 0.755 1.0528 1.838      156-42-GW24         HE 300

5003-21-00-90-10-AA-XX             M31 x 1 2.260 1.566 1.898 0.881 1.1780 2.150      157-43-GW24         HE 300

5003-23-00-90-10-AA-XX             M34 x 1 2.385 1.704 2.023 1.006 1.3028 2.275      157-43-GW24         HE 300

5003-25-00-90-10-AA-XX             M37 x 1 2.385 1.742 2.023 1.006 1.3028 2.275      157-43-GW24         HE 300

5003-09-06-90-10-AA-XX             M12 x 1 1.385 0.714 1.023 0.190 0.5528 1.275      152-42-GW24         HE 050

5003-11-08-90-10-AA-XX             M15 x 1 1.510 0.805 1.148 0.255 0.5528 1.400      154-42-GW24         HE 050

5003-13-10-90-10-AA-XX             M18 x 1 1.635 0.970 1.273 0.317 0.6146 1.525      155-42-GW24         HE 100

5003-15-12-90-10-AA-XX             M22 x 1 1.823 1.147 1.461 0.443 0.7406 1.713      155-42-GW24         HE 100

5003-17-14-90-10-AA-XX             M25 x 1 1.948 1.265 1.586 0.505 0.8028 1.838      156-42-GW24         HE 200

5003-19-16-90-10-AA-XX             M28 x 1 1.948 1.285 1.586 0.630 0.9280 1.838      156-42-GW24         HE 200

5003-21-18-90-10-AA-XX             M31 x 1 2.260 1.566 1.898 0.755 1.0528 2.150      157-43-GW24         HE 300

5003-23-20-90-10-AA-XX             M34 x 1 2.315 1.704 2.023 0.881 1.1780 2.275       157-43-GW24        HE 300

5003-25-22-90-10-AA-XX             M37 x 1 2.315 1.742 2.023 1.006 1.3028 2.275       157-43-GW24        HE 300



Amphenol

∅
B

 
M

A
X

∅
G

 
M

A
X

∅
H

 
M

A
X

A
-T

H
R

E
A

D

0.969

0.721

MATERIAL AND FINISH CODES
ARE SPECIFIED ON ORDER

NOTE:

ALL DIMENSIONS SHOWN ARE

FINISHED DIMENSIONS AFTER

PLATING/METAL FINISHING

AMPHENOL LTD

Amphenol Ltd

Thanet Way,

Whitstable, Kent.

CT5 3JF

Tel:  01227 773200  Fax:  01227 276571

CHECKED                  DIMENSIONS IN

     Inches

SCALE                   TOLERANCES

This drawing is the property of Amphenol Ltd

and shall not be copied or

disclosed to a third party without the

express permission of Amphenol Ltd

Amphenol Ltd 2000©

TITLE

Drawing Number

THIRD ANGLE

PROJECTION
 5103 SERIES

BACKSHELL STRAIGHT
WITH HEATSHRINK BOOT



Amphenol

MATERIAL AND FINISH CODES
ARE SPECIFIED ON ORDER

NOTE:

ALL DIMENSIONS SHOWN ARE

FINISHED DIMENSIONS AFTER

PLATING/METAL FINISHING

AMPHENOL LTD

Amphenol Ltd

Thanet Way,

Whitstable, Kent.

CT5 3JF

Tel:  01227 773200  Fax:  01227 276571

CHECKED                DIMENSIONS IN

  MM

SCALE                 TOLERANCES

This drawing is the property of Amphenol Ltd

and shall not be copied or

disclosed to a third party without the

express permission of Amphenol Ltd

Amphenol Ltd 2000©

TITLE

Drawing Number

THIRD ANGLE

PROJECTION 5103 SERIES

BACKSHELL STRAIGHT
FOR HEATSHRINK BOOT

∅
H

 
M

A
X

∅
G

 
M

A
X

 0.969

0.721

∅
B

 
M

A
X

A
 T

H
R

E
A

D



X
X

X
X

0
3

X
X

A
IA

 S
eries - B

a
ck

sh
ell C

o
n

n
ecto

rs

A
m

p
h

e
n

o
l

T
h

a
n

e
t W

a
y
, W

h
itsta

b
le

, K
e
n

t. C
T

5
 3

JF
. T

e
l: 0

1
2
2
7
 7

7
3
2
0
0
 F

a
x
: 0

1
2
2
7
 2

7
6
5
7
1

01.11.2000

N
o

tic
e
: P

ro
d
u
cts a

re
 so

ld
 su

b
je

ct to
 A

m
p
h
e
n
o
l’s co

n
d
itio

n
s o

f sa
le

 (“th
e
 sta

n
d
a
rd

 co
n
d
itio

n
s”).  A

ll sp
e
cifica

tio
n
s a

n
d
 sta

te
m

e
n
ts co

n
ta

in
e
d
 h

e
re

in
 a

re
 b

e
lie

ve
d
 to

 b
e
 co

rre
ct a

t th
e
 tim

e

o
f p

rin
tin

g
, b

u
t n

o
 re

p
re

s
e

n
ta

tio
n

 o
r w

a
rra

n
ty

, e
x
p

re
s
s
 o

r im
p

lie
d

, is
 g

iv
e

n
 a

s
 to

 a
n

y
 s

p
e

c
ific

a
tio

n
 o

r s
ta

te
m

e
n

t c
o

n
ta

in
e

d
 h

e
re

in
.  P

ro
d

u
c
t s

p
e

c
ific

a
tio

n
s
 in

c
lu

d
in

g
 p

e
rfo

rm
a

n
c
e

c
h
a
ra

c
te

ris
tic

s
 a

re
 ty

p
ic

a
l o

n
ly

 a
n
d
 s

u
b
je

c
t to

 d
e
v
ia

tio
n
.  S

p
e
c
ific

a
tio

n
s
 a

re
 a

ls
o
 s

u
b
je

c
t to

 c
h
a
n
g
e
 w

ith
o
u
t n

o
tic

e
.  U

s
e
rs

 s
h
o
u
ld

 n
o
t a

s
s
u
m

e
 th

a
t a

ll s
a
fe

ty
 m

e
a
s
u
re

s
 a

re
 in

d
ic

a
te

d
 o

r
th

a
t o

th
e
r m

e
a
su

re
s m

a
y n

o
t b

e
 re

q
u
ire

d
.  N

o
 re

p
re

se
n
ta

tio
n
 o

r w
a
rra

n
ty, e

xp
re

ss o
r im

p
lie

d
, is g

ive
n
 th

a
t a

n
y u

se
 o

f p
ro

d
u
cts (in

clu
d
in

g
 a

n
y sta

te
d
 o

r su
g
g
e
ste

d
 u

se
) d

o
e
s n

o
t in

frin
g
e

a
n
y
 p

a
te

n
t, re

g
is

te
re

d
 d

e
s
ig

n
 o

r o
th

e
r th

ird
 p

a
rty

 rig
h
ts

 a
n
d
 n

o
  s

ta
te

d
 o

r s
u
g
g
e
s
te

d
 u

s
e
 o

f p
ro

d
u
c
ts

 c
a
n
 b

e
 ta

k
e
n
 to

 re
c
o
m

m
e
n
d
 a

n
y
 s

u
c
h
 in

frin
g
e
m

e
n
t.

F
o

r fu
rth

e
r in

fo
rm

a
tio

n
 o

n
 c

a
b

le
s, c

o
n

n
e
c
to

rs a
n

d
 a

sse
m

b
lie

s p
le

a
se

 c
o

n
su

lt y
o

u
r lo

c
a
l o

ffic
e
.

P
ro

d
u

c
t sp

e
c
ific

a
tio

n
s a

n
d

 p
e
rfo

rm
a
n

c
e
 c

h
a
ra

c
te

ristic
s a

re
 ty

p
ic

a
l o

n
ly

, a
n

d
 su

b
je

c
t to

 c
h

a
n

g
e
.

P
a
rt N

u
m

b
er In

fo
rm

a
tio

n

X
X

X
X

D
en

o
tes C

o
n

n
ecto

r S
ty

le
0
3
 =

 3
8
9
9
9
 S

eries

A
IA

5
0

D
e
n

o
te

s C
o

n
n

e
c
to

r
 S

h
e
ll S

iz
e

9
, 1

1
, 1

3
, 1

5
, 1

7
, 1

9
, 2

1
, 2

3
, 2

5

D
e
n

o
te

s B
a

c
k

sh
e
ll In

le
t S

iz
e

S
ee C

h
art fo

r In
let S

tan
d
ard

C
o
n
su

lt F
acto

ry
 fo

r A
ltern

ativ
es

D
e
n

o
te

s B
a

c
k

sh
e
ll E

x
it A

n
g

le
0

0
 =

 0
o

4
5
 =

 4
5

o

9
0

=
 9

0
o

C
o
n
su

lt F
acto

ry
 fo

r A
ltern

ativ
es

D
en

o
tes W

o
rk

in
g

 L
en

g
th

0
0
 =

 S
tan

d
ard

C
o
n
su

lt F
acto

ry
 fo

r A
ltern

ativ
es

D
e
n

o
te

s B
a

c
k

sh
e
ll M

a
te

r
ia

l
A

A
 =

 A
lu

m
in

iu
m

 A
llo

y

R
B

 =
 A

lu
m

in
iu

m
 B

ro
n
ze

S
S

 =
 S

tain
less S

teel

X
X

D
e
n

o
te

s B
a

c
k

sh
e
ll P

la
tin

g
 F

in
ish

0
1
 =

 U
n
p
lated

0
2
 =

 E
lectro

less N
ick

el

0
3
 =

 C
ad

m
iu

m
 w

ith
 O

liv
e D

rab
 C

h
ro

m
ate P

assiv
atio

n

0
4
 =

 Z
in

c C
o
b
alt w

ith
 G

reen
 C

h
ro

m
ate P

assiv
atio

n

0
5
 =

 Z
in

c C
o
b
alt w

ith
 B

lack
 C

h
ro

m
ate P

assiv
atio

n

D
e
n

o
te

s B
a

c
k

sh
e
ll S

ty
le

5
0
 =

 Z
eta L

o
ck

 T
erm

in
atio

n
 w

ith
 h

eatsh
rin

k
         b

o
o

t g
ro

o
v

e

5
1
 =

 S
p
in

 C
o
u
p
ler to

 tak
e h

eatsh
rin

k
 b

o
o
t


